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54 pasabaeno wa 18=3 ( 54: 18=3).

540 . 180=3 (540: 180=3).

W T Har.
108 pasabaenona 18 zasa 6 ( 108: 18=6)
1080 - 180 , 6 (1080:180=6).

W TTi HaTATHKB.

Vi bmh Dd— " 3T 4 18— 3)
Vi o bAp="30:(B40% 18= 30),
''s » 95400=300 (5400:18=300).

U T Bar.
Yo 108=.8.(108:18= 6).
',§ X1080=60 (1080 :18=60).

0 THaT.

342 .abzeno ma 114=3 ( 342: 114=3)
3400 e 1130=3 ( 34+20:1140=3).
T Har.

1012 abaseno ua 506=2( 1012: 506=2)
10120 z 5060=2(10120: 5060=2)
n T War.

VK840 8 (0342 114=, 8).
'/,,,,X‘ 3420= 30 ( 3420:114= 30).
',14X34200=300 (34200:114=300).
Yee>Sd0iBe= 12 o+ 10122 50R=— " '2).
Y5062<10120= 20, (10120:506= 20).
7Tpas.ma 3 4aBa 2n 1 e ocrapa
( Tero3emp2€:1)8
0y 080, 2 (10)( 70: 30= 2( 10))
700 , 300 , 2 (100)(700:300= 2(100))
11 150 e Bison B L alpees: 8=30 (i




